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Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52
Number of Questions to be attempted : 52
Section Marks : 52
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895941
Question Shuffling Allowed : Yes
  
Question Number : 1 Question Id : 2549896597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The errors that can be pointed out by the compiler are:
Options :
1.  syntax errors
2.  semantic errors
3.  logical errors
4.  run time errors
  
Question Number : 1 Question Id : 2549896597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
क�ाइलर �ारा िनद� �िशत एरर _______ कहलाती ह�।
Options :
1.  िसंटै� स एरर
2.  सेमै��क एरर
3.  लॉिजकल (तािक� क) एरर
4.  रन टाइम एरर
  
Question Number : 2 Question Id : 2549897119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
With respect to the basic PC  keyboard, the ‘Break’ key is shared with the ______ key.
Options :
1.  pause
2.  insert
3.  home
4.  end
  
Question Number : 2 Question Id : 2549897119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
पस�नल कं�ूटर के बेिसक की-बोड� के संदभ� म�, '�ेक' की (key) को ______ की (key) के साथ साझा िकया जाता है।
Options :
1.  पॉज
2.  इंसट�
3.  होम
4.  एंड
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Question Number : 3 Question Id : 2549897321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ translates the commands entered by the user and converts them into a language that is understood by the kernel in UNIX.
Options :
1.  Kernel
2.  System library
3.  Shell
4.  Compilers
  
Question Number : 3 Question Id : 2549897321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ यूजर �ारा इंटर िकए गए आदेशो ंका अनुवाद करता/करती है और उ�� उन भाषाओ ंम� �पांत�रत करता/करती है जो UNIX म� कन�ल �ारा
समझी जाती ह�।
Options :
1.  कन�ल
2.  िस�म लाइ�ेरी
3.  शेल
4.  क�ाइलस�
  
Question Number : 4 Question Id : 2549897570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following types of monitor is most commonly used with portable computers?
Options :
1.  Cathode Ray Tube
2.  Power capacitor
3.  Flat–panel displays
4.  Data projector
  
Question Number : 4 Question Id : 2549897570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िकस मॉिनटर का उपयोग पोट�बल कं�ूटरो ंके िलए सबसे �ादा िकया जाता है?
Options :
1.  कैथोड रे �ूब
2.  पावर कैपेिसटर 
3.  �ैट पैनल िड��े
4.  डेटा �ोजे�र
  
Question Number : 5 Question Id : 2549897649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The CPU, motherboard and RAM are ______ components of a computer hardware system.
Options :
1.  input device
2.  output device
3.  internal
4.  secondary storage device
  
Question Number : 5 Question Id : 2549897649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
सीपीयू, मदरबोड� और रैम कं�ूटर हाड�वेयर िस�म के ______ घटक ह�।
Options :
1.  इनपुट िडवाइस
2.  आउटपुट िडवाइस
3.  आंत�रक
4.  ि�तीयक �ोरेज िडवाइस
  
Question Number : 6 Question Id : 25498911718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following services of the Internet is used to send short messages and allows them to be read in real time, enabling users to
converse quickly and easily?
Options :
1.  Chat and instant messaging
2.  Usenet
3.  Email
4.  Blog
  
Question Number : 6 Question Id : 25498911718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
इंटरनेट की िन� म� से िकस सेवा का उपयोग शॉट� मैसेज भेजने के िलए िकया जाता है और यह उ�� �रयल-टाइम म� रीड करने की अनुमित देता है,
िजससे यूजर ज�ी और आसानी से बातचीत कर सकते ह�?
Options :
1.  चैट और इं��ट मैसेिजंग
2.  यूज़नेट
3.  ई-मेल
4.  �ॉग
  
Question Number : 7 Question Id : 25498912977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following commands is used to open Credential Backup and Restore Wizard in Windows 8?
Options :
1.  sysrdisc
2.  recdisc
3.  credwiz
4.  credreswiz
  
Question Number : 7 Question Id : 25498912977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Windows 8 म� �ेड��िशयल बैकअप और �र� टोर िवज़ाड� खोलने के िलए िकस कमांड का उपयोग िकया जाता है?
Options :
1.  sysrdisc
2.  recdisc
3.  credwiz
4.  credreswiz
  
Question Number : 8 Question Id : 25498929963 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
A/An ______ device is a security identification and authentication device.
Options :
1.  automatic
2.  audiometric
3.  biometric  
4.  video metric
  
Question Number : 8 Question Id : 25498929963 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ उपकरण एक सुर�ा पहचान और �माणीकरण उपकरण है।
Options :
1.  ऑटोमेिटक
2.  ऑिडयोमेिट� क
3.  बायोमेिट� क  
4.  िविडयोमेिट� क
  
Question Number : 9 Question Id : 25498930215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In general a Blu-ray high definition disk has ________ resolution.
Options :
1.  520 × 380 pixels
2.  1920 × 1080 pixels
3.  2016 × 1080 pixels
4.  3804 × 2106 pixel
  
Question Number : 9 Question Id : 25498930215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
�ू-रे हाई डेिफनीशन िड� का �रज़ो�ूशन सामा�तः  िकतना होता है?
Options :
1.  520 × 380 िप� सल
2.  1920 × 1080 िप� सल
3.  2016 × 1080 िप� सल
4.  3804 × 2106 िप� सल
  
Question Number : 10 Question Id : 25498930640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following computer parts displays video, images, text and the results of the work done?
Options :
1.  Monitor
2.  RAM
3.  Keyboard
4.  ROM
  
Question Number : 10 Question Id : 25498930640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
कं�ूटर का कौन सा भाग वीिडयो, िच�, टे� तथा िकए गए काय� के प�रणाम को �दिश�त करता है?
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Options :
1.  मॉिनटर
2.  RAM
3.  की-बोड�
4.  ROM
  
Question Number : 11 Question Id : 25498930706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following was NOT one of the early 'protocols' or ways to use the internet?
Options :
1.  Telnet
2.  FTP
3.  Blogging
4.  Gopher
  
Question Number : 11 Question Id : 25498930706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत म� से कौन सा आरंभ म� इंटरनेट का उपयोग करने के तरीके या '�ोटोकॉल' म� से एक नही ंहै?
Options :
1.  टेलनेट
2.  FTP
3.  �ॉिगंग
4.  गोफर
  
Question Number : 12 Question Id : 25498930959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
LCD stands for:
Options :
1.  Logical Crystalline Display
2.  Liquid Crystalline Display
3.  Logical Crystal Display
4.  Liquid Crystal Display
  
Question Number : 12 Question Id : 25498930959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
LCD (एलसीडी) का पूण��प �ा है?
Options :
1.  लॉिजकल ि��लाइन िड��े (Logical Crystalline Display)
2.  िल��ड ि��लाइन िड��े (Liquid Crystalline Display)
3.  लॉिजकल ि��ल िड��े (Logical Crystal Display)
4.  िल��ड ि��ल िड��े (Liquid Crystal Display)
  
Question Number : 13 Question Id : 25498933208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the appropriate option using sign-2's complement representation.

(-6) + (-13) = ______
Options :
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1.  11101101
2.  11101111
3.  10101111
4.  11101011
  
Question Number : 13 Question Id : 25498933208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िच�-2's कॉ��ीम�ट �र�ज��टशेन का उपयोग करते �ए उपयु� िवक� के साथ िन� �र� �थान की पूित� कीिजए।

(-6) + (-13) = ______
Options :
1.  11101101
2.  11101111
3.  10101111
4.  11101011
  
Question Number : 14 Question Id : 25498933727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following interactions refers to the application of Information and Communications Technology to reorganise the
governmental processes involved in the functioning of government entities as well as to increase the flow of information and services
within and between different entities?
Options :
1.  Government to Business
2.  Government to Citizens
3.  Government to Government
4.  Government to Employees
  
Question Number : 14 Question Id : 25498933727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत म� से कौन सी अ�ः ि�या सरकारी सं�थाओ ंके कामकाज म� शािमल सरकारी �ि�याओ ंको पुनग�िठत करने के साथ-साथ िविभ� सं�थाओं
के भीतर और उनके बीच सूचना और सेवाओ ंके �वाह को बढ़ाने के िलए सूचना और संचार �ौ�ोिगकी के अनु�योग को संदिभ�त करती है?
Options :
1.  सरकार से �वसाय
2.  सरकार से नाग�रक
3.  सरकार से सरकार
4.  सरकार से कम�चारी
  
Question Number : 15 Question Id : 25498933814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
With reference to process management, the data stored in the register is visible only to that ________.
Options :
1.  grid
2.  block
3.  thread
4.  section
  
Question Number : 15 Question Id : 25498933814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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�ोसेस मैनेजम�ट के संदभ� म� रिज�र म� �ोर डेटा केवल उस ______ म� िदखता है।
Options :
1.  ि�ड
2.  �ॉक
3.  �ेड
4.  से�न
  
Question Number : 16 Question Id : 2549896973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A(n) ______ is composed of several computers connected together to share resources and data.
Options :
1.  peripheral
2.  network
3.  backbone
4.  hyperlink
  
Question Number : 16 Question Id : 2549896973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
एक ______ संसाधनो ंऔर डेटा को साझा करने के िलए एक साथ जुड़े कई कं�ूटरो ंसे बना है।
Options :
1.  पेरीफेरल (peripheral)
2.  नेटवक�
3.  बैकबोन
4.  हाइपरिलंक
  
Question Number : 17 Question Id : 2549897341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ file format is used as installer extension while installing windows.
Options :
1.  .msm
2.  .msp
3.  .msi
4.  .mst
  
Question Number : 17 Question Id : 2549897341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िवंडोज़ इं�ॉल करते समय ______ फाइल फॉम�ट का उपयोग इं�ॉलर ए�ट�शन के �प म� करता है।
Options :
1.  .msm
2.  .msp
3.  .msi
4.  .mst
  
Question Number : 18 Question Id : 2549897775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The acronym DBMS stands for: 
Options :
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1.  Data Basic Management System
2.  Dataset Base Management System
3.  Data Byte Management System
4.  Database Management System
  
Question Number : 18 Question Id : 2549897775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
DBMS का पूण� ��प _____ है।
Options :
1.  डेटा बेिसक मैनेजम�ट िस�म (Data Basic Management System)
2.  डेटासेट बेस मैनेजम�ट िस�म (Dataset Base Management System)
3.  डेटा बाइट मैनेजम�ट िस�म (Data Byte Management System)
4.  डेटाबेस मैनेजम�ट िस�म (Database Management System)
  
Question Number : 19 Question Id : 2549898204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ topology uses hub.
Options :
1.  Bus
2.  Star
3.  Point-to-Point
4.  Ring
  
Question Number : 19 Question Id : 2549898204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ टोपोलॉजी हब का उपयोग करती है।
Options :
1.  बस
2.  �ार
3.  पॉइंट-टू-पॉइंट
4.  �रंग
  
Question Number : 20 Question Id : 2549898364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
_______ identifies your computer's hardware, configures it, tests it, and connects it to the operating system for further instruction.
Options :
1.  BIOS
2.  Windows
3.  Linux
4.  Android
  
Question Number : 20 Question Id : 2549898364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
_____आपके कं�ूटर के हाड�वेयर की पहचान करता है, इसे कॉ��फ़गर करता है, इसका परी�ण करता है और आगे के िनद�श (instruction) के िलए
इसे ऑपरेिटंग िस�म से जोड़ता है।
Options :
1.  BIOS
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2.  िवंडोज़
3.  िलन�
4.  एंड� ॉइड
  
Question Number : 21 Question Id : 2549899425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following options best describes the speed of the Dot Matrix Printer?
Options :
1.  characters per hour
2.  characters per second
3.  lines per minute
4.  words per minute
  
Question Number : 21 Question Id : 2549899425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत म� से कौन सा िवक� डॉट मैिट� � ि�ंटर की गित का सबसे अ�ा वण�न करता है?
Options :
1.  अ�र �ित घंटे म�
2.  अ�र �ित सेकंड म�
3.  पं�� �ित िमनट म�
4.  श� �ित िमनट म�
  
Question Number : 22 Question Id : 2549899560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which command is used to print the documents?
Options :
1.  Ctrl+P
2.  Ctrl+S
3.  Ctrl+X
4.  Ctrl+V
  
Question Number : 22 Question Id : 2549899560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
डा�ूम�ट्स को ि�ंट करने के िलए िकस कमांड का उपयोग िकया जाता है?
Options :
1.  Ctrl+P
2.  Ctrl+S
3.  Ctrl+X
4.  Ctrl+V
  
Question Number : 23 Question Id : 25498910804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In which type of printer, paper is often fed through pins or wheels that grab and slowly move paper through printer?
Options :
1.  Dot-matrix printer
2.  Laser jet printer
3.  Inkjet printer
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4.  3D printer
  
Question Number : 23 Question Id : 25498910804 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िकस �कार के ि�ंटर म� पेपर को अ�र िपन या �ील के मा�म से फ़ीड िकया जाता है जो ि�ंटर के मा�म से कागज को धीरे-धीरे ले जाते ह�?
Options :
1.  डॉट मैिट� � ि�ंटर
2.  लेजर जेट ि�ंटर
3.  इंकजेट ि�ंटर
4.  3D ि�ंटर
  
Question Number : 24 Question Id : 25498911100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If you save your photo using webcam in a Windows 10, where does it get saved?
Options :
1.  Pictures > Camera Roll
2.  My Documents
3.  Recycle Bin
4.  My Downloads
  
Question Number : 24 Question Id : 25498911100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
यिद आप िवंडोज 10 म� वेबकेम का उपयोग करके अपनी फोटो सेव करते ह�, तो यह कहां सेव हो जाता है?
Options :
1.  Pictures > Camera Roll (िपचस� > कैमरा रोल)
2.  My Documents (माय डॉ�ुम�ट्स)
3.  Recycle Bin (रीसायकल िबन)
4.  My Downloads (माय डौ�लोडस)
  
Question Number : 25 Question Id : 25498913365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
_____has the highest storage capacity.
Options :
1.  Floppy Disk
2.  CD
3.  Blue Ray Disk
4.  DVD
  
Question Number : 25 Question Id : 25498913365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
_____ की भंडारण �मता (�ोरेज कैपेिसटी) सबसे अिधक होती है।
Options :
1.  �ॉपी िड�
2.  सीडी (CD)
3.  �ू-रे िड�
4.  डीवीडी (DVD)
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Question Number : 26 Question Id : 25498913774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which is NOT a type of Cryptographic Algorithm?
Options :
1.  Secret Key Algorithm
2.  Public Key Algorithm
3.  Hash function
4.  Popular key Algorithm
  
Question Number : 26 Question Id : 25498913774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत म� से �ा एक ि��ो�ािफक अ�ो�रथम का �ा�प नही ंहै?
Options :
1.  िस�ेट की ए�ो�रथम
2.  प��क की ए�ो�रथम
3.  हैश फं�न
4.  पॉपुलर की ए�ो�रथम
  
Question Number : 27 Question Id : 25498913912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
IP address is divided in two parts as:
Options :
1.  Network ID and Memory ID
2.  Network ID and Host ID
3.  Host ID and Device ID
4.  Device ID and Location ID
  
Question Number : 27 Question Id : 25498913912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
IP   एड� ेस को दो भागो ंम� िकस �कार बांटा गया है?
Options :
1.  नेटवक�  आईडी (ID) और मेमोरी आईडी (ID)
2.  नेटवक�  आईडी (ID) और हो� आईडी (ID)
3.  हो� आईडी (ID) और िडवाइस आईडी (ID)
4.  िडवाइस आईडी (ID) और लोकेशन आईडी (ID)
  
Question Number : 28 Question Id : 25498918594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Windows 7 and other versions have improved features. Which of the following features of Windows OS allows you to encrypt full
storage?
Options :
1.  IPSec
2.  BitLocker
3.  EFS (Encrypted File System)
4.  RMS (Rights Management System)
  
Question Number : 28 Question Id : 25498918594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Windows 7 और उसके बाद के सं�रणो ंम� बेहतर सुिवधाएं ह�। Windows OS की िन� म� से कौन सी सुिवधा आपको पूरे सं�हण को ए���� करने
की सुिवधा देती है?
Options :
1.  IPSec
2.  BitLocker
3.  EFS (ए����ेड फ़ाइल िस�म)
4.  RMS (राइट्स मैनेजम�ट िस�म)
  
Question Number : 29 Question Id : 25498924296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Multitasking operating system allows:
Options :
1.  Only two programs running concurrently
2.  More than one program running concurrently
3.  One program running at a time
4.  Two programs running separately
  
Question Number : 29 Question Id : 25498924296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
म�ीटा��ंग ऑपरेिटंग िस�म _______ की अनुमित देता है।
Options :
1.  केवल दो �ो�ाम एक साथ चलाने
2.  एक साथ एक से अिधक �ो�ाम चलाने
3.  एक समय म� एक ही �ो�ाम चलाने
4.  अलग-अलग दो �ो�ाम चलाने
  
Question Number : 30 Question Id : 25498924980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
_______ is used to ease the probabilities of network failure by connecting all of the systems to a central node.
Options :
1.  Star topology
2.  Ring topology
3.  Bus topology
4.  Point-to-Point topology
  
Question Number : 30 Question Id : 25498924980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
__________ का उपयोग सभी िस�� को एक क� �ीय नोड से जोड़कर नेटवक�  िवफलता की संभावनाओ ंको कम करने के िलए िकया जाता है।
Options :
1.  �ार टोपोलॉजी
2.  �रंग टोपोलॉजी
3.  बस टोपोलॉजी
4.  पॉइंट-टू-पॉइंट टोपोलॉजी
  
Question Number : 31 Question Id : 2549896391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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With respect to the internet, ISP stands for ______.
Options :
1.  Internal Service Plan
2.  Internet Service Plan
3.  Integral Service Provider
4.  Internet Service Provider
  
Question Number : 31 Question Id : 2549896391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
इंटरनेट के संबंध म�, ISP का पूण� �प �ा है?
Options :
1.  इंटरनल सिव�स �ान (Internal Service Plan)
2.  इंटरनेट सिव�स �ान (Internet Service Plan)
3.  इंटी�ल सिव�स �ोवाइडर (Integral Service Provider)
4.  इंटरनेट सिव�स �ोवाइडर (Internet Service Provider)
  
Question Number : 32 Question Id : 2549896719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following typically appears as underlined and/or coloured text or images with reference to Web?
Options :
1.  Top-level domain names
2.  Applets
3.  Hyperlinks
4.  Protocols
  
Question Number : 32 Question Id : 2549896719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
वेब के संदभ� म� िन� म� से �ा सामा�तः  अधोरे�खत और रंगीन पा�-साम�ी और/या छिवयो ंके �प म� िदखाई देता है?
Options :
1.  टॉप-लेवल डोमेन नेम
2.  ऐ�ेट्स
3.  हाइपरिलं�
4.  �ोटोकॉ�
  
Question Number : 33 Question Id : 2549897166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ is a multilingual internet based dictionary which you can edit.
Options :
1.  Wiktionary
2.  WikiNet
3.  Wikipedia
4.  Netlingual
  
Question Number : 33 Question Id : 2549897166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
________ एक ब�भाषी इंटरनेट आधा�रत श�कोश है िजसे आप संपािदत कर सकते ह�।
Options :
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1.  िव�नरी
2.  िविकनेट
3.  िविकपीिडया
4.  नेटिलंगुअल
  
Question Number : 34 Question Id : 2549897414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
By using which tab can you add page numbers in an MS-Word 2019 document?
Options :
1.  Edit
2.  Format
3.  Insert
4.  Home
  
Question Number : 34 Question Id : 2549897414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Word 2019 के डॉ�ूम�ट म� पृ� सं�ा डालने के िलए िकस टैब का उपयोग िकया जाता है?
Options :
1.  एिडट
2.  फॉम�ट
3.  इ�ट�
4.  होम
  
Question Number : 35 Question Id : 2549897872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If your laptop has been infected by a malware after you clicked on an online advertisement, then you are a victim of which of the
following social engineering attacks?
Options :
1.  phishing
2.  patching
3.  malvertising
4.  exploit
  
Question Number : 35 Question Id : 2549897872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
लैपटॉप �ारा िकसी ऑनलाइन िव�ापन पर ��क करने से यिद आपका लैपटॉप मलवेयर से �भािवत हो जाता है, तो आप िन�िल�खत म� से िकस
सोशल इंजीिनय�रंग हमले का िशकार �ए ह�?
Options :
1.  िफ़िशंग
2.  पैिचंग
3.  मलवरटाइिज़ंग
4.  ए��ॉइट
  
Question Number : 36 Question Id : 2549898123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements related to radar chart in MS Excel 2019 is INCORRECT?
Options :
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1.  This chart compares the aggregate values of several data series. 
2.  This chart displays the changes in the values relative to a centre point.
3.  This chart shows the relationship of the parts to a whole.
4.  In a filled radar chart, the area covered by a data series is filled with a colour.
  
Question Number : 36 Question Id : 2549898123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Excel 2019 म� रडार चाट� के संबंध म� कौन सा कथन गलत है?
Options :
1.  यह चाट� डेटा की कई �ंखलाओ ंके कुल मानो ंकी तुलना करता है।
2.  यह चाट� क� � िबंदु के सापे� मानो ंम� प�रवत�न को �दिश�त करता है।
3.  यह चाट� पूण� भाग से अ� भागो ंके संबंध को �� करता है।
4.  एक भरे �ए रडार चाट� म�, डेटा �ंखला से आ�ािदत �े� को रंग से भरा जाता है।
  
Question Number : 37 Question Id : 25498910534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If there is a text in your document, MS-Word reshapes it to fit the page. Say you change a ten-page document from letter size to the
longer legal-size page. MS-Word spreads out your text over the extra space and you will have fewer pages overall.

The given action can be performed with the help of ______.
Options :
1.  Layout → Size
2.  Layout → Margin
3.  Layout → Orientation
4.  Layout → Breaks
  
Question Number : 37 Question Id : 25498910534 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
यिद आपके डॉ�ूम�ट म� टे� है, तो MS Word पृ� को िफट करने के िलए इसे पुनः  आकार देता है। मान ल� िक आप दस-पेज वाले डॉ�ूम�ट को लेटर
साइज़ से लंबे लीगल-साइज़ पेज़ म� बदलते ह�। MS Word आपके टे� को अित�र� �थान पर फैलाता है, और आपके पास कुल कम से कम पृ�
होगें।

उपरो� कार�वाई ______ की मदद से की जा सकती है।
Options :
1.  लेआउट → साइज 
2.  लेआउट → मािज�न 
3.  लेआउट → ओ�रएंटेशन 
4.  लेआउट → �े�  
  
Question Number : 38 Question Id : 25498910554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ is the setting used for most single-sided documents while adjusting the margins in page layout in MS-Word 2007.
Options :
1.  Normal
2.  Book fold
3.  2 pages per sheet
4.  Mirror margins
  
Question Number : 38 Question Id : 25498910554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Word 2007 म�, पेज ले-आउट म� मािज�न को एडज� करते समय, एक साइड वाले डा�ूम�ट्स म� सामा�तः  ______ सेिटंग का उपयोग िकया
जाता है।
Options :
1.  नॉम�ल
2.  बुक फो�
3.  2 पेज �ित शीट
4.  िमरर मािज�न
  
Question Number : 39 Question Id : 25498910605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the default line spacing in MS-Word 2019?
Options :
1.  1
2.  1.5
3.  1.15
4.  2
  
Question Number : 39 Question Id : 25498910605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Word 2019 की िडफ़ॉ� लाइन �ेिसंग �ा है?
Options :
1.  1
2.  1.5
3.  1.15
4.  2
  
Question Number : 40 Question Id : 25498910967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MIME allows the ______ data to be sent through SMTP.
Options :
1.  BCD
2.  ASCII
3.  non-ASCII
4.  redundant
  
Question Number : 40 Question Id : 25498910967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MIME, SMTP के मा�म से ______ डेटा भेजने की अनुमित देता है।
Options :
1.  BCD
2.  ASCII
3.  नॉन-ASCII
4.  �रड�े� (अित�र�)
  
Question Number : 41 Question Id : 25498911441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
In MS-Word 2010, Raghu has typed the word 'wednesday' which automatically got changed to 'Wednesday'. This can be achieved by
______.
Options :
1.  autocorrect
2.  auto capitalization
3.  auto check
4.  spell check
  
Question Number : 41 Question Id : 25498911441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Word 2010 म� रघु ने 'wednesday' श� टाइप िकया है, जो �तः  ही 'Wednesday' म� बदल जाता है। ऐसा ______ �ारा संभव होता है।
Options :
1.  ऑटो करे�
2.  ऑटो कैिपटलाइज़ेशन
3.  ऑटो चेक
4.  �ेल चेक
  
Question Number : 42 Question Id : 25498911820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Word 2016, in the context of text formatting, the line spacing setting 'double spacing' is ______ line/s high.
Options :
1.  one
2.  two
3.  three
4.  four
  
Question Number : 42 Question Id : 25498911820 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Word 2016 म� फॉम��िटंग के संदभ� म� लाइन �ेिसंग सेिटंग 'डबल �ेिसंग' ______ लाइन के बराबर ऊँची होती है।
Options :
1.  एक
2.  दो
3.  तीन
4.  चार
  
Question Number : 43 Question Id : 25498911905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Given here are the steps to print an MS-Word 2016 document with all changes made to it. Fill the blank with the suitable option.

1. Click the Microsoft Office Button and then click Print.
2. In settings → Print all pages, under Document info, click ______.
Options :
1.  List of markup
2.  List of changes
3.  List of formatting
4.  List of tracking
  
Question Number : 43 Question Id : 25498911905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
नीचे MS Word 2016 के िकसी डॉ�ूम�ट म� िकये गए सभी बदलावो ंसिहत डॉ�ूम�ट को ि�ंट करने के चरण बताये गए ह�। उपयु� िवक� से �र�
�थान की पूित� कीिजए।

1. माइ�ोसॉ� ऑिफस बटन पर ��क कर�  और िफर ि�ंट पर ��क कर�।
2. सेिटं� म� → डॉ�ूम�ट इ�ो के अंतग�त ि�ंट ऑल पेजेज़ के िलए ______ पर ��क कर�।
Options :
1.  िल� ऑफ़ माक� अप
2.  िल� ऑफ़ च�ज
3.  िल� ऑफ़ फॉम��िटंग
4.  िल� ऑफ़ ट� ै िकंग
  
Question Number : 44 Question Id : 25498911926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
With respect to digital signatures, which of the following ensures that the message content was not changed or tampered with since it was
digitally signed?
Options :
1.  Authentication
2.  Integrity
3.  Verification
4.  Non-repudiation
  
Question Number : 44 Question Id : 25498911926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िडिजटल ह�ा�र के संबंध म�, िन�िल�खत म� से �ा यह सुिनि�त करता है िक संदेश साम�ी म� िडिजटल �प से ह�ा��रत होने के बाद से कोई
बदलाव या छेड़छाड़ नही ं�ई है?
Options :
1.  ऑथ��िटकेशन
2.  इंटीि�टी
3.  वे�रिफकेशन
4.  नॉन-रेपुिडएशन
  
Question Number : 45 Question Id : 25498913320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS Word 2019, which of the following options is not available under Home Tab?
Options :
1.  Font
2.  Page Setup
3.  Styles
4.  Paragraph
  
Question Number : 45 Question Id : 25498913320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Word 2019 म�, िन� म� से कौन सा िवक� Home Tab के अंतग�त उपल� नही ंहै?
Options :
1.  फॉ�
2.  पेज सेटअप
3.  �ाइ� 



5/16/22, 3:36 PM https://g01.tcsion.com/CAE/viewHtmlPDFAction.action

https://g01.tcsion.com/CAE/viewHtmlPDFAction.action 20/39

4.  पैरा�ाफ
  
Question Number : 46 Question Id : 25498919150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following command group is placed at the left most side in the Mailing tab in MS-Word 2016?
Options :
1.  Create
2.  Start Mail Merge
3.  Write & insert fields
4.  Preview results
  
Question Number : 46 Question Id : 25498919150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS-Word 2016 म� मेिलंग टैब म� िन�िल�खत म� से कौन सा कमांड समूह सबसे बाएँ ओर रखा गया है?
Options :
1.  ि�एट
2.  �ाट� मेल मज�
3.  राइट एंड इ�ट� फी�
4.  �ी�ू �रज�्स
  
Question Number : 47 Question Id : 25498919224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If you don't have an existing address list, then to create the new recipients list in the third step of Mail Merge process, the ______ radio
button has to be enabled.
Options :
1.  Use an existing list
2.  Select the Outlook contacts
3.  Type a new list
4.  Import the list
  
Question Number : 47 Question Id : 25498919224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
यिद आपके पास मौजूदा पता सूची नही ंहै, तो  मेल मज� �ि�या के तीसरे चरण म� नई �ा�कता�ओ ंकी सूची ि�एट करने के िलए िकस रेिडयो बटन को
इनेबल करना चािहए?
Options :
1.  मौजूदा सूची का उपयोग कर�
2.  आउटलुक संपक� को चुन�
3.  एक नई सूची टाइप कर�
4.  सूची इ�ोट� कर�
  
Question Number : 48 Question Id : 25498919251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
An email address consists of ______ components.
Options :
1.  only user name
2.  only domain name
3.  user name and domain name
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4.  user name and system name
  
Question Number : 48 Question Id : 25498919251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
एक ई-मेल एड� ेस म� ______ घटक शािमल होते ह�।
Options :
1.  केवल यूज़रनेम
2.  केवल डोमेन नेम
3.  यूज़रनेम और डोमेन नेम
4.  यूज़रनेम और िस�म नेम
  
Question Number : 49 Question Id : 25498924871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
With reference to pivot tables in MS-Excel, if we drag a field to the Row Labels area and Column Labels area, we can create:
Options :
1.  a two-dimensional pivot 
2.  a three-dimensional pivot 
3.  a one-dimensional pivot 
4.  charts
  
Question Number : 49 Question Id : 25498924871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Excel की िपवट तािलका म� यिद हम रो लेबल ए�रया और कॉलम लेबल ए�रया म� एक फ़ी� ड� ैग करते ह�, तो हम ______ बना सकते ह�।
Options :
1.  ि�-आयामी िपवट तािलका
2.  ि�-आयामी िपवट तािलका
3.  एक आयामी िपवट तािलका
4.  चाट�
  
Question Number : 50 Question Id : 25498925513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS Office 2010, when you open a clipboard and press the 'Options' button at the bottom of the pane, which of the following options is
NOT available?
Options :
1.  Show Office Clipboard Automatically
2.  Show Office Clipboard When CTRL + C Pressed Twice
3.  Show Office Clipboard Icon on Taskbar
4.  Show Status in Address Bar When Copying
  
Question Number : 50 Question Id : 25498925513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS office 2010 म� जब आप ��पबोड� खोलते ह� और पैन के सबसे नीचे 'आ�शन' बटन पर ��क करते ह�, तो वहां िन� म� से कौन सा िवक�
उपल� नही ंहोता है?
Options :
1.  �तः  ही 'शो ऑिफस ��पबोड� '
2.  Ctrl + C को दो बार दबाने पर 'शो ऑिफस ��पबोड� '
3.  टा�बार म� 'शो ऑिफस ��पबोड� ' आइकन
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4.  कॉपी करने पर एड� ेस बार म� शो �ेटस
  
Question Number : 51 Question Id : 25498932143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are true with reference to Video conferencing?

(i) Video conferencing is a technology available at a very high cost.
(ii) The stability and quality of video conference may fluctuate with the speed and reliability of the data connection.
Options :
1.  (ii) only
2.  (i) only
3.  Both (i) and (ii)
4.  Neither (i) nor (ii)
  
Question Number : 51 Question Id : 25498932143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
वीिडयो कॉ��े��ंग के संदभ� म� िन� म� कौन सा/से कथन सही है/ह�।

(i) वीिडयो कॉ��े��ंग उ� लागत पर उपल� होने वाली तकनीक है।
(ii) वीिडयो कां�� स की गुणव�ा और ��थरता डेटा कने�न की गुणव�ा और गित के िहसाब से घट-बढ़ सकती है। 
Options :
1.  केवल (ii)
2.  केवल (i)
3.  (i) और (ii) दोनों
4.  न तो (i) और न ही (ii)
  
Question Number : 52 Question Id : 25498934497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
With ______, only a small part of the video file has to be downloaded before playback begins while streaming media from a web server
to a client such as a video player on a laptop or mobile phone.
Options :
1.  progressive download
2.  real-time streaming
3.  regular download
4.  virtual time streaming
  
Question Number : 52 Question Id : 25498934497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
वेब सव�र से मोबाइल या लैपटॉप के �ाइंट सव�र जैसे िक वीिडयो �ेयर पर मीिडया �� ीिमंग के दौरान �ेबैक शु� होने से पहले ______ �ारा वीिडयो
फ़ाइल के केवल एक छोटे से िह�े को डाउनलोड करना होता है।
Options :
1.  �ो�ेिसव डाउनलोड
2.  �रयल टाइम �� ीिमंग
3.  रेगुलर डाउनलोड
4.  वचु�अल टाइम �� ीिमंग
  
  

READING COMPREHENSION
Section Id : 2549895901
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Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 5
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895942
Question Shuffling Allowed : Yes
  
Question Id : 25498920881 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)
Read the given passage and answer the questions.

Environmental Protection

A concern with the environment is imperative for us because we live from it; we live in it; and we live with it. By saying that 'we live
from it' is meant that it provides us the means to our livelihood. It is the source of raw materials for productive activities. So much so that
we mine its resources, cultivate and harvest its fruits shape the forms of the land for human habitation, to construct roads and dredge
rivers for transport.

‘We live in it’ means that the environment is not just a physical necessity for human life and activity; it is where we lead our daily lives.
Environment matters to us for social, aesthetic and cultural reasons. It is where our work-a-day life takes place and derives its
significance. It is where besides work we spend our leisure: walking, fishing, climbing, swimming, playing etc. Forests, beaches, rivers,
seas, mountains provide us the backdrop of these recreational activities.

We live with the environment. It existed before our arrival and shall outlast us on earth. It is given to us, we have not created it. We can
only respond to it by expressing a feeling of wonder towards it. Any loss of bio-diversity, the disappearance of particular habitats and the
extinction of particular species of plant and animal life is mourned for its own sake.

Indian thinkers and sages realise that the cause for environmental degradation is not need but greed. According to them natural desires
are satisfied easily; thirst by water, hunger by food. But the desire for possession is an artificial one; it goes on unceasingly and is never
fully satisfied. Man’s appetite for gold, for example, is never satisfied.

Human beings have imbalanced greedy minds and constantly strive to fulfil their desires by adopting right or wrong means. They forget
that ‘all things are connected’. The destruction of one leads to the destruction of the others. Therefore, it is imperative to respect
traditional wisdom along with modern eco-friendly practices and learn to live in sync with the environment.
Sub questions
 
Question Number : 53 Question Id : 25498920882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
According to the passage, the phrase 'living from the environment' means that we are dependent on environmental resources
Options :
1.  for our livelihood, food and shelter.
2.  but do not give anything in return.
3.  for fulfilling our needs but are unconcerned about it.
4.  but nobody feels responsible for the environment.
 
Question Number : 54 Question Id : 25498920883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The environment has a recreational value for us because
Options :
1.  activities like mining, farming, or construction are enjoyable because they are outdoor activities.
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2.  many of our outdoor leisure time activities are best enjoyed in the lap of nature.
3.  it provides the backdrop for us, the actors, on world stage.
4.  the environment depends on us for its conservation.
 
Question Number : 55 Question Id : 25498920884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which sentence in the passage tells us that the environment is everlasting but we are NOT?
Options :
1.  The environment is a physical necessity for human life.
2.  Forests, beaches, rivers, mountains provide us great pleasure.
3.  The environment existed before our arrival and shall outlast us on earth.
4.  Indian sages and thinkers have always been concerned with nature.
 
Question Number : 56 Question Id : 25498920885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What, according to the author, is the difference between need and greed?
Options :
1.  Need can be fulfilled but greed is never satisfied.
2.  Drinking water when thirsty is need but denying oneself food is greed.
3.  Our desire to buy unlimited jewellery or clothes is greed.
4.  Killing animals till they become extinct is an outcome of greed.
 
Question Number : 57 Question Id : 25498920886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which sentence best expresses the message of the passage?
Options :
1.  Environment is an essential part of our life.
2.  Environment provides us with everything without expecting any return.
3.  We should try to live in harmony with environment because its destruction will ruin us.
4.  We have no right to exploit and destroy people all around us.
  
Question Id : 25498920881 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)
िदए गए ग�ांश को पढ़�  और उसके आधार पर ��ो ंके उ�र द�।

पया�वरण संर�ण

पया�वरण के िलए िचंता करना हमारे िलए ज�री है �ों�िक हम इसम� जीिवत रहते ह�; हम इसम� रहते ह�; और हम इसके साथ रहते ह�। यह कह कर िक
'हम इसम� जीिवत रहते ह�' का अथ� यह है िक यह हम� हमारी आजीिवका के साधन �दान करता है। यह उ�ादक गितिविधयो ंके िलए क�े माल का
�ोत है। इतना है िक हम इसके संसाधनो ंका दोहन, खेती करते और इसके फलो ंको काटते ह�; मानव िनवास के िलए भूिम के �पो ंको आकार देते ह�,
प�रवहन के िलए सड़को ंऔर निदयो ंका िनमा�ण करते ह�।

'हम इसम� रहते ह�' का अथ� है िक पया�वरण मानव जीवन और गितिविध के िलए िसफ�  भौितक आव�कता ही नही ंहै; यह वह � थान है जहां पर हम
अपने दैिनक जीवन को बीताते ह�। सामािजक, सौदंया�� मक और सां�ृितक कारणो ंसे, पया�वरण हमारे िलए मायने रखता है। यह वह � थान है जहां
हमारा कामकाजी जीवन � यतीत होता है और इसका अपना मह� �ा� है। यह वह � थान है जहां काम के अलावा हम अपना अवकाश: चलना, मछली
पकड़ना, चढ़ाई करना, तैराकी, खेलना आिद करते है। वन, समु� तट, निदयां, समु�, पहाड़ - हम� इन मनोरंजक गितिविधयो ंकी पृ�भूिम �दान करते
ह�।

हम पया�वरण के साथ रहते ह�। यह हमारे आगमन से पहले अ��� म� था और पृ�ी पर हम से अिधक समय तक चलेगा। यह हम� िदया गया है, हमने
इसे नही ंबनाया है। हम इसके �ित आ�य� की भावना �� करके इसका उ� तर दे सकते ह�। जैव-िविवधता का कोई नुकसान, िवशेष िनवासो ंका गायब
होना और पौधो ंतथा पशु जीवन की िवशेष �जाितयो ंका िवलु� होना, �यं अपनो ंके िलए शोक िकया जाता है।
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भारतीय िवचारको ंऔर संतो ंने एहसास िकया है िक पया�वरणीय िगरावट के कारण की आव�कता नही ंहै परंतु यह लालच है। उनके अनुसार
�ाकृितक इ�ाएं: पानी से �ास, भोजन से भूख आसानी से पूरी हो जाती ह�; परंतु आिधप� य की इ�ा कृि�म है; यह अनजाने म� बढ़ती चली जाती है और
कभी भी पूरी तरह से पूरी नही ंहोती है। उदाहरण के िलए, सोने के िलए मनु� की भूख कभी पूरी नही ंहोती है।

मनु�ो ंम� असंतुिलत लालची िदमाग है और सही या गलत साधनो ंको अपनाकर यह अपनी इ�ाओ ंको पूरा करने का �यास करता रहता ह�। वे भूल
जाते ह� िक 'सभी चीज� जुड़ी �ई ह�'। एक व� तु का िवनाश दूसरो ंके िवनाश की ओर ले जाता है। इसिलए, आधुिनक पया�वरण अनुकूल �थाओ ंके साथ
पारंप�रक �ान का स�ान करना और पया�वरण के साथ सम�य म� रहना सीखना ज�री है।
Sub questions
 
Question Number : 53 Question Id : 25498920882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
अनु�ेद अनुसार 'पया�वरण से जीने से', लेखक का अथ� है िक हम पया�वरण संसाधनो ंपर िनभ�र ह�। 
 
Options :
1.  अपनी आजीिवका, भोजन और आ�य के िलए।
2.  परंतु बदले म� कुछ भी नही ंदेते ह�।
3.  अपनी ज�रतो ंको पूरा करने के िलए परंतु इसके बारे म� अिनि�त ह�।
4.  परंतु पया�वरण के िलए कोई भी िज�ेदारी महसूस नही ंकरते है।
 
Question Number : 54 Question Id : 25498920883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
पया�वरण का हमारे िलए मनोरंजक मू� है �ों�िक
Options :
1.  खनन, खेती या िनमा�ण जैसी गितिविधयां आनंददायक ह� �ों�िक वे बाहरी गितिविधयां ह�।
2.  हमारी ब�त सारी बाहरी गितिविधयो ंका आनंद �कृित की गोद म� सबसे बेहतर �प से िलया जा सकता है।
3.  दुिनया के मंच पर, यह हमारे, कलाकारो ंके िलए पृ�भूिम �दान करता है।
4.  पया�वरण, संर�ण के िलए हम पर िनभ�र करता है।
 
Question Number : 55 Question Id : 25498920884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
ग�ांश म� कौन सा वा� हम� बताता है िक पया�वरण हमेशा के िलए है परंतु हम नही ंह�?
Options :
1.  मानव जीवन के िलए पया�वरण एक भौितक आव�कता है।
2.  वन, समु� तट, निदयां, पहाड़ हम� ब�त खुशी �दान करते ह�।
3.  पया�वरण हमारे आगमन से पहले अ��� म� था और हमारे बाद तक पृ� वी पर रहेगा।
4.  भारतीय ऋिष और िवचारक हमेशा �कृित के िलए िचंितत रहे ह�।
 
Question Number : 56 Question Id : 25498920885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
लेखक के अनुसार, आव�कता और लालच के बीच �ा अंतर है?
Options :
1.  आव�कता पूरी हो सकती है परंतु लालच कभी पूरा नही ंहोता है।
2.  �ासा होने पर पानी पीना आव�कता है परंतु � वयं को भोजन से नकारना लालच है।
3.  असीिमत आभूषण या कपड़े खरीदने की हमारी इ�ा लालच है।
4.  जानवरो ंको िवलु� होने तक मारना, लालच का प�रणाम है।
 
Question Number : 57 Question Id : 25498920886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
कौन सा वा� ग�ांश के संदेश को सबसे अ�े ढंग से �� करता है?
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Options :
1.  पया�वरण हमारे जीवन का एक अिनवाय� िह�ा है।
2.  पया�वरण हम� िकसी भी वापसी की आशा िकए िबना, सब कुछ �दान करता है।
3.  हम� पया�वरण के अनु�प रहने की कोिशश करनी चािहए �ों�िक इसका िवनाश हम� बबा�द कर देगा।
4.  हमे अपने आस - पास के लोगो ंका शोषण करने और न� करने का कोई अिधकार नही ंहै।
  
  

QUANTITATIVE APTITUDE
Section Id : 2549895902
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895943
Question Shuffling Allowed : Yes
  
Question Number : 58 Question Id : 25498914225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  

3.  

4.  

  
Question Number : 58 Question Id : 25498914225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  

3.  
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4.  

  
Question Number : 59 Question Id : 25498914270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  

3.  

4.  

  
Question Number : 59 Question Id : 25498914270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  

3.  

4.  

  
Question Number : 60 Question Id : 25498914294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  

3.  

4.  

  
Question Number : 60 Question Id : 25498914294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  

3.  

4.  

  
Question Number : 61 Question Id : 25498928784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  

3.  

4.  

  
Question Number : 61 Question Id : 25498928784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  
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3.  

4.  

  
Question Number : 62 Question Id : 25498928900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Evaluate the following expression (rounded off to nearest tens).

23% of 6783 + 57% of 8431 = ?
Options :
1.  6460
2.  6420
3.  6320
4.  6360
  
Question Number : 62 Question Id : 25498928900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
नीचे िदए गए समीकरण को हल कर�  (िनकटतम दशमलव �थान तक पूण� करे)।

6783 का 23% + 8431 का 57% = ?
Options :
1.  6460
2.  6420
3.  6320
4.  6360
  
Question Number : 63 Question Id : 25498929207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What will be the compound interest on ₹ 18,600 for 2 years if the rate of interest is 8% and 15% consecutively?
Options :
1.  ₹ 4,499.90
2.  ₹ 4,963.20
3.  ₹ 4,237
4.  ₹ 4,501.20
  
Question Number : 63 Question Id : 25498929207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
यिद दो वाष� के िलए �ाज दर �मशः  8% और 15% हो तो ₹18,600 पर िकतना च�वृ�� �ाज �ा� होगा?
Options :
1.  ₹4,499.90
2.  ₹4,963.20
3.  ₹4,237
4.  ₹4,501.20
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GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549895903
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895944
Question Shuffling Allowed : Yes
  
Question Number : 64 Question Id : 25498912839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :
1.  D 4 β ©
2.  F β H ©
3.  D 4 β 7
4.  ÷ F 4 H
  
Question Number : 64 Question Id : 25498912839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :
1.  D 4 β ©
2.  F β H ©
3.  D 4 β 7
4.  ÷ F 4 H
  
Question Number : 65 Question Id : 25498912899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Find out which of the letter-series follows the given rule.

Number of letters skipped in between adjacent letters decrease in order.
Options :
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1.  AGMRV
2.  HNSWA
3.  NSXCH
4.  SYDHK
  
Question Number : 65 Question Id : 25498912899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
पता लगाएं िक कौन सी अ�र-�ंृखला िदए गए िनयम का पालन करती है।

�ंृखला म� िनकटवत� अ�रो ंके बीच म� छोड़े गये अ�रो ंकी सं�ा �म म� कम होती जाती है।
Options :
1.  AGMRV
2.  HNSWA
3.  NSXCH
4.  SYDHK
  
Question Number : 66 Question Id : 25498919022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the same as Rabbit, Rat, Mole?
Options :
1.  Mongoose
2.  Frog
3.  Earthworm
4.  Ant
  
Question Number : 66 Question Id : 25498919022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत म� से कौन खरगोश, चूहा, छछँूदर (मोल) के जैसा है?
Options :
1.  नेवला
2.  मेढ़क
3.  क� चुआ
4.  चीटंी
  
Question Number : 67 Question Id : 25498919604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the alternative with the most appropriate description about these three words.

Sweep : Scrub : Wipe
Options :
1.  These are terms connected with rubbing.
2.  These are games of cards.
3.  These are terms used by motor mechanics.
4.  These are terms connected with cleaning.
  
Question Number : 67 Question Id : 25498919604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
इन तीन श�ो ंके संबंध म� सबसे उिचत िववरण वाले िवक� का चयन कर�।
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�ीप : �ब : वाइप
Options :
1.  ये रगड़ने (रिबंग) से संबंिधत श� ह�।
2.  ये काड� के गेम ह�।
3.  ये मोटर मैकेिन� �ारा उपयोग िकए जाने वाले श� ह�।
4.  ये सफाई से संबंिधत श� ह�।
  
Question Number : 68 Question Id : 25498919731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
An egg vendor calls on his first customer and sells half his eggs and half an egg. To the second customer, he sells half of what he was left
with and an egg, and to the third customer, he sells half of what he was then left with and half an egg. However, he did NOT break any
egg. If, in the end, the vendor was left with three eggs, how many eggs did he have initially?
Options :
1.  26
2.  31
3.  39
4.  33
  
Question Number : 68 Question Id : 25498919731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
एक अंडे िव�ेता अपने पहले �ाहक को फोन करता है और उसके पास िजतने अंडे ह� उनमे से आधे अंडे और आधा अंडा बेच देता है। दूसरे �ाहक को,
वह शेष बचे �ए अंडो ंके आधे और एक अंडा बेचता है, और तीसरे �ाहक को, वह शेष बचे �ए अंडो ंके आधे और आधा अंडा बेचता है। हालांिक, उसने
िकसी भी अंडे को नही ंतोड़ा। यिद, अंत म�, िव�ेता के पास तीन अंडे बच जाते ह�, तो शु�आत म� उसके पास िकतने अंडे थे?
Options :
1.  26
2.  31
3.  39
4.  33
  
Question Number : 69 Question Id : 25498919882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In each of the following, four words have been given, out of which three are alike in some manner, while the fourth one is different.
Choose out the odd one.
Options :
1.  Beaker
2.  Glass
3.  Mug
4.  Saucer
  
Question Number : 69 Question Id : 25498919882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
नीचे िवक�ो ंम� चार श� िदए गए ह� िजनम� से तीन िकसी �कार से एक जैसे ह�, जबिक एक इनसे िभ� है। उस िभ� श� की पहचान कर�।
Options :
1.  बीकर
2.  �ास
3.  मग
4.  सॉसर
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GENERAL AWARENESS
Section Id : 2549895904
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895945
Question Shuffling Allowed : Yes
  
Question Number : 70 Question Id : 2549895318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In India Gold is mainly found in ______ gold fields.

Which of the following will be the correct option for the above blank space?
Options :
1.  Panna
2.  Katni
3.  Kolar
4.  Khetri
  
Question Number : 70 Question Id : 2549895318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
भारत म� सोना (गो�) मु� �प से ______ �े� (गो� फी�्स) म� पाया जाता है।

उपरो� �र� �थान के िलए िन�िल�खत म� से कौन सही िवक� होगा?
Options :
1.  प�ा
2.  कटनी
3.  कोलार
4.  खेतड़ी
  
Question Number : 71 Question Id : 2549899642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In India, service sector includes:

I. Mining and Quarrying
II. Transport and Communication
III. Hotels
IV. Forestry and Fishing

Select your correct answer from the codes given below:
Options :
1.  Only I and II
2.  Only II and III
3.  Only III and IV
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4.  Only I and IV
  
Question Number : 71 Question Id : 2549899642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
भारत म� सेवा �े� म� िन�िल�खत शािमल ह�:

I. खनन और उ�नन
II. प�रवहन और सं�ेषण
III. होटल
IV. वन उ�ोग और मछली पकड़ना

नीचे िदए गए कोड़ से सही उ�र का चयन कर�।
Options :
1.  केवल I और II
2.  केवल II और III
3.  केवल III और IV
4.  केवल I और IV
  
Question Number : 72 Question Id : 25498929745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Chlorobenzene when condensed with chloral in the presence of conc H₂SO₄ yields:

Options :
1.  Gammexane
2.  DDT
3.  TNB
4.  C6Cl6
  
Question Number : 72 Question Id : 25498929745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
जब �ोरब�जीन को सा� H₂SO₄ की उप��थित म� �ोरल के साथ संघिनत िकया जाता है, तो िकसकी �ा�� होती है?

Options :
1.  गैमे�ेन
2.  DDT
3.  TNB
4.  C6Cl6
  
Question Number : 73 Question Id : 25498929753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The nucleus of an atom consists of:
Options :
1.  electrons and neutrons
2.  protons and neutrons
3.  electrons and protons
4.  electrons only
  
Question Number : 73 Question Id : 25498929753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
एक परमाणु के नािभक म� ______ शािमल होते ह�।



5/16/22, 3:36 PM https://g01.tcsion.com/CAE/viewHtmlPDFAction.action

https://g01.tcsion.com/CAE/viewHtmlPDFAction.action 35/39

Options :
1.  इले�� ॉन और �ूट� ॉन
2.  �ोटॉन और �ूट� ॉन
3.  इले�� ॉन और �ोटॉन
4.  केवल इले�� ॉन
  
Question Number : 74 Question Id : 25498931993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The UN Climate Change conference was organised in Bali from 3 December 2007 to 14 December 2007 for 12 days in which 1000
people participated. Bali is situated in:
Options :
1.  Indonesia
2.  Malaysia
3.  Morocco
4.  China
  
Question Number : 74 Question Id : 25498931993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
बाली म� 3 िदसंबर 2007 से 14 िदसंबर 2007 तक 12 िदनो ंके िलए संयु� रा��  जलवायु प�रवत�न स�ेलन का आयोजन िकया गया था, इसम� 1000
लोगो ंने भाग िलया था। बाली ______ म� ��थत है।
Options :
1.  इंडोनेिशया
2.  मलेिशया
3.  मोर�ो
4.  चीन
  
Question Number : 75 Question Id : 25498935151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements correctly describes the fourth schedule of the Constitution of India?
Options :
1.  It lists the distribution of powers between the Union and the States.
2.  It contains the languages listed in the Constitution.
3.  It contains the provisions regarding administration of Tribal areas.
4.  It allocates seats in the Council of States.
  
Question Number : 75 Question Id : 25498935151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
इनम� से कौन सा कथन भारत के संिवधान की चौथी अनुसूची का सही वण�न करता है?
Options :
1.  इसम� संघ और रा�ो ंके बीच श��यो ंका िवतरण �� िकया गया है।
2.  इसम� संिवधान के सूचीब� भाषाएँ विण�त ह�।
3.  इसम� जनजातीय �े�ो ंके �शासन से संबंिधत �ावधान िदए गए ह�।
4.  इसम� रा�सभा (Council of States) म� सीटो ंका आवंटन िकया गया है।
  
  

English Mock
Group Number : 2
Group Id : 2549893693
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Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
  
  

English Mock
Section Id : 2549895905
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895946
Question Shuffling Allowed : No
  
Question Number : 76 Question Id : 25498941039 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None
Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children
have fun during this process as they get to explore new arenas.
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English Actual
Group Number : 3
Group Id : 2549893694
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 3
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
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English Typing Test
Section Id : 2549895906
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895947
Question Shuffling Allowed : No
  
Question Number : 77 Question Id : 25498937902 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None
All of us do some kind of work to live a comfortable life and to gain sufficient material wealth. This work is carried out with a
view of maintaining the standard of living which our physical and intellectual powers have helped us to attain. But there is
another kind of work which is completely divorced from the burdensome process of our livelihood. A work which is undertaken
for the sake of amusement or interest or to direct our surplus stores of energy in some new and useful channels of refined tastes.
This delightful occupation that combines work with pleasure or hobby as it is properly termed calls for the use of our highest
sensibilities. It gives proper form to our healthy instincts and disciplined behaviour. In our carefree and vacant time it allows our
senses to perform their natural functions and to display their instinctive greatness. We devote our free time to the pursuit of this
pleasant task and gain advantages. The benefits of pursuing a hobby are more soothing than those which we obtain from the
bread earning routine of our daily life. Hobbies widen the sphere of our cultural activities and show us the path that leads to our
overall mental and moral development. Our tendencies and inclinations also find in them an outlet for a healthy and progressive
expression. A hobby is a favourite subject or occupation that is not a main business. This age of machinery has taken upon itself
most of the hard duties of physical work formally performed by man. In the absence of exhausting physical work it should not be
difficult for a person to devote some time to the pursuit of a new interest that can add some charm to his life. The spare time
must not be wasted away in idleness or spent on such work which burdens a mind and body after one has performed one has
normal functions for the day. The occupation banishes the dullness of routine work and produces a feeling that life is both
charming and meaningful. The choice of hobbies is like the choice of books. It is not an easy task. Some hobbies demand a little
guidance from some experienced individuals. Our sudden attachment to them without the backing of some basic knowledge may
result in wasting of our resources of time and money. In the end we may be compelled to abandon them. Some hobbies are rather
expensive and therefore beyond the means of ordinary people who cannot spend large sum of money on them. Also a few are
incompatible with our mindset and taste. We must not allow the glamour of certain hobbies to blind us to their reality however
tempting they may appear to us. Neither should we begin to cherish them thoughtlessly because we find other people so devotedly
attached to them. In the first flush of enthusiasm many have rushed into unsuitable hobbies only to find themselves turning away
from them in a state of great confusion. In a few rare and exceptional case a sudden and instinctive choice of some hobbies
sometimes proves to be the right one. We must not forget that tinkering with a hobby is a joyless and wasteful process. Scattered
interest in half a dozen or more odd hobbies is also not a desirable end.
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Show Attended Group? : No
Edit Attended Group? : No
Break time : 5
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
  
  

Hindi Mock
Section Id : 2549895907
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895948
Question Shuffling Allowed : No
  
Question Number : 78 Question Id : 25498944388 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None
एक बार की बात है, अकबर और बीरबल िशकार पर जा रहे थे। अभी कुछ समय की उ�� एक िहरण िदखा। ज�बाजी म� तीर िनकालते �ए
अकबर अपने हाथ पर घाव लगा बैठा। अब हालात कुछ ऐसे थे की अकबर ब�त दद� म� था और गु�े म� भी।
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Hindi Actual
Group Number : 5
Group Id : 2549893696
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
  
  

Hindi Typing Test
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Section Id : 2549895908
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895949
Question Shuffling Allowed : No
  
Question Number : 79 Question Id : 25498944389 Question Type : TYPING TEST Display Question Number : Yes Calculator :
None
आज के दौर म� लोगो की सोच को िव�ापन के ज�रये बदला जा सकता है इसका नमूना आप चुनाव म� देख सकते है। आज हम आपको
िव�ापन के ब�त से �कार के बारे म� समझाय�गे िजससे आपको िव�ापन को समझने म� आसानी रहेगी। िव�ापन एक कला है। िव�ापन का
मूल यह माना जाता है। िक िजस चीज का िव�ापन िकया जा रहा है। उसे लोग पहचान जाएं और उसको अपना ल�। कंपिनयो ंके िलए यह
लाभकारी है। शु� शु� म� घंिटयां बजाते �ए टोिपयां पहनकर या रंग िबरंगे कपडे पहनकर कई लोगो ंके ज�रये गिलयो ंगिलयो ंम� िव�ापन
िकए जाते थे। इन लोगो ंज�रये कंपनी अपनी चीजो ंके बारे म� जानका�रयां घर घर प�ंचा देते थी। िव�ापन के िवकास के साथ कई चीजो ंका
भी िवकास �आ है। जैसे समाचार प� और रेिडयो और टेिलिवजन का ईजात �आ। इसी के साथ िव�ापन ने अपना सलतनत फैलानी शु�
कर दी थी। नगरो ंम� सडको ंके िकनारे चौराहो ंऔर गिलयो ंके िसरो ंपर िव�ापन लटकने लगे। समय के साथ बदलते �ए समाचार प� और
रेिडयो तथा िसनेमा के पट अब इनका ज�रया बन गए ह�। िव�ापन सौदागरी व िब�ी बढाने का एक मा� साधन है। देखा गया है। िक अनेक
सौदागर केवल िव�ापन के बल पर ही अपना माल बेचते ह�। कुल िमलाकर िव�ापन कला ने आज सौदागरी �े� म� अपनी ज�री जगह बना
ली है और इसिलए ही इस युग को िव�ापन युग कहा जाने लगा है। िव�ापन के इस युग म� लोगो ंने इसका गलत उपयोग करना भी शु� कर
िदया है। िव�ापन के ज�रये उपज का इतना �चार िकया जाता है िक लोगो ंके ज�रये िबना सोचे समझे उपज का अंधाधंुध �योग िकया जा रहा
है। हम िव�ापन के माया जाल म� इस �कार उलझकर रह गए ह� िक हम� िव�ापन म� िदखाए गए झठू सच नजर आते ह�। हमारे घर चमक
�साधनो ंतथा बाकी चीजो से अटे पडे रहते ह�। इन चीजो ंकी हम� कोई ज�रत है भी या नही ंहम सोचते नही ंहै। बाजार िवलािसता की साम�ी
से अटा पडा है और िव�ापन हम� इस ओर खीचं कर ले जा रहे ह�। लुभावने िव�ापनो ंकी ज�रये हमारी सोच को बीमार कर िदया जाता है और
हम उनकी ओर खुद को बंधे �ए पाते ह�। मंुह धोने के िलए हजारो ंतरह के साबुन और फैशवास िमल जायंगे। मुख की कांित को बनाए रखने
के िलए हजारो ं�कार की �ीम। िव�ापनो ंके ज�रये हम� यह भरोसा िदला िदया जाता है िक यह �ीम हम� जवान और संुदर बना देगी। रंग यिद
काला है तो वह गोरा हो जाएगा। इन िव�ापनो ंम� सच है यह देखने के िलए बडे बडे �खलािडयो ंऔर िच�पट कलाकारो ंको िलया जाता है।
हम इन कलाकारो ंकी बातो ंको सच मानकर अपना पैसा पानी की तरह बहात� ह� लेिकन नतीजा ठन ठन गोपाल है। हम� िव�ापन देखकर
जानकारी ज�र लेनी चािहए लेिकन िव�ापनो ंको देखकर चीजे नही ंलेनी चािहए। िव�ापनो ंम� जो िदखाया जाता है वे शत �ितशत सही नही ं
होता। िव�ापन हमारी सहायता करते ह� िक बाजार म� िकस �कार की साम�ी आ गई ह�। हम� िव�ापनो ंके ज�रये चीजो ंकी जानका�रयां
िमलती ह�। िव�ापन �ाहक और कंपनी के बीच कडी का काम करते ह�। �ाहको ंको अपने उपज की िब�ी करने के िलए िव�ापनो ंके ज�रये
लुभाया जाता है। आज आप िकतने ही ऐसे साबुन �ीम और पाउडरो ंके िव�ापनो ंको देखते होगें।
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